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y(0)=1
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a) Sketch the graphs of the solutions that satisfy the given initial conditions.

1) A direction field for the differential equation y’ =y (1 —i yzj is shown.

y(0)=-1
y(0)=-3
y(0)=3
b) Find all the equilibrium solutions.

1.

iii.

iv.

=0, y=-2, y=2|

y

Page 1 of 3




MathFortress.com

| Direction Fields

Calculus 11

-

\

\

v

NN N YN N
NN

\

A A A A Y A A A A R A A S A
\

VAV ARV A YV 2L VAR S S S S S A
s 7 7 s 7 7 s |7 7 s 7 7 re 7 7
~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
- - - - - - - - - - - - - - -
— —~ — — ~ — — ~ — — ~ — — ~— —
~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
~ ~ ~ ~ ~ ~N ~ ~ ~ ~ ~ ~ ~ ~ ~
NN N N N N N NN N N N N NN
SN N NN N N[N N N Y N N N2

Page 2 of 3

V2|

N
\

/S S s~

~ N\

-~ N\

~ N A\

~ \
/7~ \

/
1, .

/
[ Y A A AV A AV Gl L
- O

A R Y A A A A i P

AN U T Y Y AR A S A gl P i
—
4 NNNNNV IV 1 S 22 e =
g NN N N AV
<
m. NNNNANN NV S -
WJ NSNSNNANANANANV VNSNS -
=
S = CSNSNSNSNNANANANNNVNWV St St
2 <~~~ \\\\\ |V 117 P
]
2 SSNSSSNSNSSNANANNANWNNVNV VY L L s
]
“ SNSNSSSNSNSNSNNNANNANNV VS s s
.m III////////-M///—_\\\\
P e N N N N A N N U W T R B A4
W_ e T T L N N N U N T T )
[
) .l.f..l:/f./.l.;l././/.?,.///////—_
2
2
<
p—
<
=
p—
[3) /
ﬁ A i
=) Ly
.Lm T N e et
m.l.v —~~N | | - — —
. p—
o —— N\ /| s - - - =
«n
)
M ——=~N\N |/ /IS m - -
N
2 NN N AV A A AV AP
g ——— e~~~V U e
o= —
= = —==~=~~N\N VI WS
= — - —
T RIEE= e N
Hﬁl._m — ==~~~ "\ \iivrrtrzss-==-=
=
m ———=—==~~NNANA\ANNAVNNANANN YV Y-
= -
% W M ———— =~~~ SNNANSNNNN s
= T B
ko) | | - - e e e e e e e T T N N R g
Lnuu ~A A A A
o} I I I Nn T === —_——_— e e s NN NN =~ N\ /-
m AR AT A e e — - - — - — N == = = =~ ~~ |
S ~ o~ o~ o~
M AN N <t N

/

s

- -~ -~ -
—0

- -~ ~ -

~ -~ 7/ /
~ s S
VN M N =

\
)




MathFortress.com

\ Direction Fields

Calculus 11

1+ y . Then sketch the solution curves that go

’

6) Sketch a direction field for the differential equation y

through the points (0,0), (0,—1), (0,-2).
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7) Sketch the direction field of the differential equation y”= y—2x. Then sketch the solution curve that passes
through the point (1,0) .
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